
Addition & Subtraction 
 

1)Fill in the blanks : 

1. The numbers being added are called ____________________ 
2. The result of addition of the addends are called the _______________. 
3. Zero added to any number is equal to the ______________. 
4. Zero subtracted from any number is equal to __________________. 
5. While adding if we change the order of the numbers , the result will be the 
6. The result of subtraction is called the ________________ 

2) Add 

7 3 4 8 
+2 6 5 1 

4 5 2 7 
+5 4 6 2 

5 6 7 8 
+ 4 3 2 1  

   
3 4 6 2 
2 3 2 1 

+ 4 2 1 5 

1 2 3 4 
5 6 5 3 

+3 1 1 2 

3 1 3 2 
4 5 4 5  

+2 0 0 2 
   

 

2 3 4 6 
+4 2 2 7 

 

5 6 7 0 
+2 4 5 9 

 
4 9 3 6 

+4 0 9 3 
   

 

7 6 5 4 
+1 9 8 6 

 
8 7 6 4 
+2 9 4 

 

6 5 4 3 
+2 8 7 9 

   

 

6 7 2 9 
1 4 5 0 

+ 1 4 3 2 

 

3 6 4 5 
1 5 0 2 
+1 7 5 

 

1 9 6 7  
2 5 4 0 
+3 2 8 

   

 

4 5 7 6 
1 2 3 4 

+ 2 9 67  

 

1 6 8 7 
3 8 0 0 

+1 5 96 

 

7 4 2 3 
5 2 9 

+6 0 6 
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3) Subtract : 

9 8 7 6 
4 5 2 4 

5 7 0 8 
3 2 0 6 

    7 6 4 5 
6 2 4 0 

   
6 7 4 5 

4 5 3 2 
9 3 4 2 
6 0 0 2 

8 7 6 5 
1 4 3 2 

   

 

4 6 4 5 
1 8 3 9 

 

9 4 3 2 
6 9 4 2 

 

8 2 0 4 
1 2 9 5 

   

 

1 0 0 0  
9 9 0 

 

5 2 4 0 
2 7 5 4 

 

6 3 7 3 
2 9 2 9 

   

 

9 0 9 0 
9 9 9 

 

7 0 0 0 
3 7 6 2 

 

4 3 2 1 
2 2 29 

   

 

1 3 0 4 
8 7 6 

 

6 5 3 2 
2 6 4 9 

 

9 8 7 6 
5 4 8 9 

   
 

4)Word Problems based on Addition & Subtraction 

1. In three different sectors of a city, the number of people living are 7824, 

3625 and 1123 respectively . What is the total number of people living 

in these sectors ? 

2. The population of a village is 4276, 2985 of them are males. Find the 

population of females. 
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3. The sum of two numbers is 7345. If one of the numbers is 3456, find the 

others. 

4. Saif earned Rs 9000 in a month and spent Rs 5496. Find his savings ? 

5. There are 2972 students in a school in which 1452 are boys. Find the 

number of the girls? 

6. Find the difference between greatest 4 digit number and least 4 digit 

number. 

7. In a village there are 9236 women. The number of men is more than 

that of the woman by 125. What is the number of men in the village? 
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